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Contrabass,	Acoustic	Bass

New	Age	Synthesizer,	Sampler

Electric	Guitar,	Electric	Guitar
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	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	169	=	95

	=	169	=	95

	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	95	=	169

	=	95	=	169

	=	95



11
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Cb.

Synth.

El.	Guit.




 


  













    

 
  

   


     
     


 


 


   




  
   

 


  














	=	95

	=	95

	=	169

	=	169	=	95

	=	95	=	169
	=	169	=	95

	=	169

	=	95	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95	=	169	=	95

	=	169

	=	169

	=	169	=	95	=	169

	=	169

	=	95	=	169
	=	95

	=	95

	=	95



12
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Cb.

Synth.

El.	Guit.



 









   


 

   




 
 

  
    

 
  




 

 

 


  



     

  

  









 

	=	169

	=	95

	=	95

	=	169
	=	169	=	95	=	95

	=	95

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	169	=	95

	=	169	=	95

	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169
	=	95

	=	169	=	95
	=	95

	=	169

	=	169

13



28

Cb.

Synth.

El.	Guit.


  

   
 




   

  


 


 
  


  


 

 
     

   


    
 


 
 







 

	=	95

	=	95

	=	169	=	95

	=	95

	=	169

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95

14
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Cb.

Synth.

El.	Guit.














 

   


 

 


 

 





 
 
 

 



 



 



 



 

 





 
 
 









 

	=	169
	=	169

	=	95	=	169

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	169	=	95

	=	95

 


15
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Cb.

Synth.

El.	Guit.









 
  


 

 










 

 
 



 


 
 


 
 


 













 

  



 



  








 

	=	95

	=	95

	=	169	=	95

	=	169

	=	95	=	169

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	95	=	169

	=	95	=	169

	=	95

	=	169

	=	95

16
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Cb.

Synth.

El.	Guit.

  

      


 






  

 

 



  
 
 

 
 
 




 
 



 








    




 


 



   













 



	=	95

	=	95

	=	169
	=	95

	=	169
	=	95
	=	169
	=	95
	=	169
	=	95
	=	169	=	95

	=	169

	=	169

	=	169
	=	95
	=	169
	=	95

	=	169	=	95

	=	169	=	95	=	169	=	95	=	169	=	95

	=	169	=	95	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95	=	169	=	95

	=	169

	=	95	=	169
	=	169	=	95	=	169

	=	95

	=	169	=	95

	=	95



17
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Cb.

Synth.

El.	Guit.





 
 


 
 

   

 

 





 

 

      
  

 
 

 


 
   

 
  
    



 

     










	=	169

	=	169

	=	95	=	169
	=	95

	=	95	=	169

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95



18
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Cb.

Synth.

El.	Guit.

 




  


     





 






 
 

  
   


  




 

 



 







      
 
   

   
  

 







 

	=	169

	=	95

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169


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Cb.

Synth.

El.	Guit.







  
 

  
   



        


 


  
    

 
         


     







	=	169

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95

	=	95	=	169

	=	95

	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95

20
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Cb.

Synth.

El.	Guit.

   

   


     





  
 

   
   

          
   


       


   

  
        







 

	=	169

	=	95

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169


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Cb.

Synth.

El.	Guit.

    


 




  

  



      





  
    





 

 
   

   
  










	=	169

	=	95

	=	95

	=	95	=	169
	=	95

	=	95	=	169

	=	169

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

 

22
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Cb.

Synth.

El.	Guit.








 
        













   






        

   
 

 
    

 


    
  







 

	=	169
	=	169

	=	95	=	169

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95

	=	95


 
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Cb.

Synth.

El.	Guit.








 
  

   
  



   


 
 




    





 



  





 


  

  


 
   











	=	169

	=	95

	=	95	=	169

	=	95

	=	95	=	169

	=	95	=	169	=	169

	=	95

	=	95
	=	95	=	169	=	169

	=	169	=	95

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	169

	=	95	=	169	=	95
	=	95	=	169

	=	169

	=	95

24
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Cb.

Synth.

El.	Guit.




 





 
 










   


 

 
  

   




 



  
 
     

   
 

 
    


















 

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95

	=	95

	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.






















 




 


   


 

 


 
 
  


  
 
   

 


 


 
 

 
  







  

	=	169

	=	169

	=	169	=	95

	=	95

	=	95

	=	95

	=	95	=	169	=	169
	=	169	=	95

	=	95	=	169	=	95	=	169	=	95	=	169

	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	95	=	169

	=	95	=	169

	=	95

	=	95



26
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Cb.

Synth.

El.	Guit.




 







 

 
 







 

  

 
 
   

  






  


 





 
  
            

 
 

  
















	=	169
	=	169

	=	169

	=	95
	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	95	=	169	=	169

	=	95	=	169
	=	95	=	169

	=	95

	=	169

	=	169	=	95	=	169
	=	169	=	95	=	169

	=	95

	=	169

	=	95	=	169	=	95
	=	95

	=	95



27
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Cb.

Synth.

El.	Guit.



  


 


 





 
 

  

 









 

  








 
 

 

 


 





 


 
  
 







 


	=	169

	=	95

	=	95	=	169

	=	95

	=	95	=	169

	=	95	=	169	=	169

	=	169	=	95
	=	95

	=	95

	=	169

	=	169	=	95

	=	169	=	95	=	169
	=	169	=	95	=	169

	=	95

	=	169

	=	95	=	169	=	95
	=	95	=	169

	=	169

	=	95

28
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Cb.

Synth.

El.	Guit.




 





 
 










   


 

 
  

   




 



  
 
     

   
 

 
    


















 

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95

	=	95

	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.



























   

  





 

 

 


 


  















  


 


  

 
 















	=	95

	=	169

	=	95	=	169

	=	95

	=	95	=	169

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.






 
 




 





 




   

 
 




 


  
  



   

  
   

  
 

    


 
  

  
  










 



	=	169

	=	95

	=	95

	=	95	=	169
	=	95

	=	95	=	169

	=	169

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95



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Cb.

Synth.

El.	Guit.

 
 







 

 
 




  
 







  


 

     


  

  

  
 








 


  




 
 


  
  

   
















	=	169

	=	95

	=	95	=	169	=	95

	=	169
	=	169
	=	95

	=	169	=	95	=	169

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169

	=	95	=	169

	=	95

	=	95
	=	169
	=	95
	=	169
	=	95
	=	169
	=	95

	=	95	=	169	=	95

	=	169
	=	95
	=	169
	=	95
	=	169

	=	169	=	95	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95	=	169

	=	95



32



68

Cb.

Synth.

El.	Guit.

  








 




  


  

  
       


  







          


   
  


   







 

	=	169

	=	169

	=	95	=	169
	=	95

	=	95	=	169

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.






 

   





 



 

 



 


              

     








   
    


 









	=	169

	=	169

	=	95	=	169
	=	95

	=	95	=	169

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.

 




   


    

 


  

 
 



  


  

 





 
 
  

 
 











 



 













 

	=	169

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95

	=	95

	=	95

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.










 




   



 

 


          
      


    

 



   


        

  
      









	=	169

	=	169

	=	95	=	169
	=	95

	=	95	=	169

	=	169	=	95

	=	95

	=	95

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.

 







    



  

   

   
      




 
 

  



              


  

   

    









 

	=	169

	=	169

	=	95	=	169
	=	95

	=	95	=	169

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.

 


 

  


  

  


          




  
 

 
 
 

  
     




  


 















	=	169
	=	169

	=	95	=	169

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95

	=	95


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Cb.

Synth.

El.	Guit.



 




 


   
 




 

 


 

 



  





 

 









 







 
 











 



 














	=	169

	=	169

	=	95	=	169
	=	95

	=	95	=	169

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.





 








  
 






  





  


  


  


  





 



   


  
 



   


    




  
  









 

	=	95

	=	95

	=	169
	=	169	=	95

	=	169

	=	95

	=	95	=	169

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	169	=	95

	=	169	=	95

	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	169	=	95
	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.

  





 
  




 


  

 


 
 
  

 











  
  

   
 
 




  
 







  

	=	95

	=	95

	=	169	=	95

	=	95

	=	169

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.









  
   


  







  

  
  



  
 




 
 


 


  
 


 




  


 


 
 









 

	=	169

	=	169

	=	95
	=	95	=	169

	=	95	=	169

	=	95

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	169	=	95

	=	169	=	95

	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	95	=	169

	=	95	=	169

	=	95


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Cb.

Synth.

El.	Guit.




 


  













    

 
  

   


     
     


 


 


   




  
   

 


  














	=	95

	=	95

	=	169

	=	169	=	95

	=	95	=	169
	=	169	=	95

	=	169

	=	95	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95	=	169	=	95

	=	169

	=	169

	=	169	=	95	=	169

	=	169

	=	95	=	169
	=	95

	=	95

	=	95


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Cb.

Synth.

El.	Guit.



 









   


 

   




 
 

  
    

 
  




 

 

 


  



     

  

  









 

	=	169

	=	95

	=	95

	=	169
	=	169	=	95	=	95

	=	95

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	169	=	95

	=	169	=	95

	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169
	=	95

	=	169	=	95
	=	95

	=	169

	=	169
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Cb.

Synth.

El.	Guit.


  

   
 




   

  


 


 
  


  


 

 
     

   


    
 


 
 







 

	=	95

	=	95

	=	169	=	95

	=	95

	=	169

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.














 

   


 

 


 

 





 
 
 

 



 



 



 



 

 





 
 
 









 

	=	169
	=	169

	=	95	=	169

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	169	=	95

	=	95

 

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Cb.

Synth.

El.	Guit.









 
  


 

 










 

 
 



 


 
 


 
 


 













 

  



 



  








 

	=	95

	=	95

	=	169	=	95

	=	169

	=	95	=	169

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	95	=	169

	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.

  

      


 






  

 

 



  
 
 

 
 
 




 
 



 








    




 


 



   













 



	=	95

	=	95

	=	169
	=	95

	=	169
	=	95
	=	169
	=	95
	=	169
	=	95
	=	169	=	95

	=	169

	=	169

	=	169
	=	95
	=	169
	=	95

	=	169	=	95

	=	169	=	95	=	169	=	95	=	169	=	95

	=	169	=	95	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95	=	169	=	95

	=	169

	=	95	=	169
	=	169	=	95	=	169

	=	95

	=	169	=	95

	=	95


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Cb.

Synth.

El.	Guit.





 
 


 
 

   

 

 





 

 

      
  

 
 

 


 
   

 
  
    



 

     










	=	169

	=	169

	=	95	=	169
	=	95

	=	95	=	169

	=	95

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.

 




  


     





 






 
 

  
   


  




 

 



 







      
 
   

   
  

 







 

	=	169

	=	95

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169


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Cb.

Synth.

El.	Guit.







  
 

  
   



        


 


  
    

 
         


     







	=	169

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95

	=	95	=	169

	=	95

	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.

   

   


     





  
 

   
   

          
   


       


   

  
        







 

	=	169

	=	95

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169



52
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Cb.

Synth.

El.	Guit.

 
 


  

  

  



      





  
    





 

 
  

   
  










	=	169

	=	95

	=	95

	=	95	=	169
	=	95

	=	95	=	169

	=	169

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

 

53
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Cb.

Synth.

El.	Guit.








 
        













   






        

   
 

 
    

 


    
  







 

	=	169
	=	169

	=	95	=	169

	=	95	=	169
	=	95

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95

	=	95


 

54
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Cb.

Synth.

El.	Guit.








 
  

   
  



   


 
 




    





 



  





 


  

  


 
   











	=	169

	=	95

	=	95	=	169

	=	95

	=	95	=	169

	=	95	=	169	=	169

	=	95

	=	95
	=	95	=	169	=	169

	=	169	=	95

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	169

	=	95	=	169	=	95
	=	95	=	169

	=	169

	=	95
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Cb.

Synth.

El.	Guit.




 





 
 










   


 

 
  

   




 



  
 
     

   
 

 
    


















 

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95

	=	95

	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.






















 




 


   


 

 


 
 
  


  
 
   

 


 


 
 

 
  







  

	=	169

	=	169

	=	169	=	95

	=	95

	=	95

	=	95

	=	95	=	169	=	169
	=	169	=	95

	=	95	=	169	=	95	=	169	=	95	=	169

	=	169

	=	169

	=	169	=	95	=	169	=	95	=	169	=	95

	=	95	=	169

	=	95	=	169

	=	95

	=	95


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Cb.

Synth.

El.	Guit.




 







 

 
 







 

  

 
 
   

  






  


 





 
  
            

 
 

  
















	=	169
	=	169

	=	169

	=	95
	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	95	=	169	=	169

	=	95	=	169
	=	95	=	169

	=	95

	=	169

	=	169	=	95	=	169
	=	169	=	95	=	169

	=	95

	=	169

	=	95	=	169	=	95
	=	95

	=	95



58
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Cb.

Synth.

El.	Guit.



  


 


 





 
 

  

 









 

  








 
 

 

 


 





 


 
  
 







 


	=	169

	=	95

	=	95	=	169

	=	95

	=	95	=	169

	=	95	=	169	=	169

	=	169	=	95
	=	95

	=	95

	=	169

	=	169	=	95

	=	169	=	95	=	169
	=	169	=	95	=	169

	=	95

	=	169

	=	95	=	169	=	95
	=	95	=	169

	=	169

	=	95
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Cb.

Synth.

El.	Guit.




 





 
 










   


 

 
  

   




 



  
 
     

   
 

 
    


















 

	=	95

	=	95

	=	169	=	95

	=	95	=	169

	=	169	=	95

	=	95

	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	169

	=	95
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Cb.

Synth.

El.	Guit.



























   

  





 

 

 


 


  















  


 


  

 
 















	=	95

	=	169

	=	95	=	169

	=	95

	=	95	=	169

	=	169	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95

	=	95



61



127

Cb.

Synth.

El.	Guit.






 
 




 





 




   

 
 




 


  
  



   

  
   

  
 

    


 
  

  
  










 



	=	169

	=	95

	=	95

	=	95	=	169
	=	95

	=	95	=	169

	=	169

	=	95

	=	95	=	169

	=	169	=	95	=	169

	=	95

	=	169	=	95	=	169
	=	169	=	95

	=	169

	=	169	=	95	=	169
	=	95	=	169

	=	95

	=	169	=	95	=	169

	=	95



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Cb.

Synth.

El.	Guit.











 


 

 











 



 



  


 

 


  
 
 



















	=	169

	=	169

	=	95
	=	95

	=	169	=	95
	=	169
	=	95

	=	169
	=	169	=	95

	=	169

	=	95

	=	169	=	95
	=	95

	=	169
	=	169
	=	95
	=	95	=	169	=	95

	=	169
	=	95
	=	169
	=	95
	=	169

	=	95	=	169
	=	95

	=	95

	=	169
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